

# The Binet formula for the $k$ -generalized Fibonacci numbers

Sheng-liang Yang, Hui-ting Zhang

Department of Applied Mathematics

Lanzhou University of Technology

Lanzhou, Gansu, 730050, P.R. China

e-mail: slyang@lut.cn

**Abstract** In this paper, using the generating function, we derive Binet formulas and determinant expressions for the  $k$ -generalized Fibonacci numbers and Lucas numbers. As applications, we obtain some new recurrence relations for the Stirling numbers of the second kind and power sums.

**Keywords:**  $k$ -generalized Fibonacci sequence;  $k$ -generalized Lucas sequence; generating function; Stirling numbers; power sum

## 1 Introduction

The Fibonacci sequence and its various generalizations have been discussed in so many articles and books ( see [3, 12, 15]). The well-known Fibonacci sequence  $\{F_n\}$  and Lucas sequence  $\{L_n\}$  are defined by the following recurrence relation: for  $n > 1$

$$F_n = F_{n-1} + F_{n-2}, \quad (1)$$

where  $F_0 = F_1 = 1$ , and

$$L_n = L_{n-1} + L_{n-2}, \quad (2)$$

where  $L_0 = 2$ ,  $L_1 = 1$ . We call  $F_n$  and  $L_n$  the  $n$ th Fibonacci number and  $n$ th Lucas number respectively. The Binet formulas are well known in the Fibonacci numbers theory (see [1, 3]). These formulas allow all Fibonacci numbers  $F_n$  and Lucas numbers  $L_n$  to be represented by the roots  $\alpha = \frac{1+\sqrt{5}}{2}$

and  $\beta = \frac{1-\sqrt{5}}{2}$  of the characteristic equation  $x^2 - x - 1 = 0$ :

$$F_n = \frac{\alpha^{n+1} - \beta^{n+1}}{\alpha - \beta}, \quad (3)$$

$$L_n = \alpha^n + \beta^n. \quad (4)$$

Using the Girard-Waring formulas [3, 4]

$$\sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^k \binom{n-k}{k} (x+y)^{n-2k} (xy)^k = \sum_{k=0}^n x^k y^{n-k}, \quad (5)$$

$$\sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^k \frac{n}{n-k} \binom{n-k}{k} (x+y)^{n-2k} (xy)^k = x^n + y^n, \quad (6)$$

we have that the Fibonacci numbers  $F_n$  and Lucas numbers  $L_n$  satisfy the formulas:

$$F_n = \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-k}{k}, \quad (7)$$

$$L_n = \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \frac{n}{n-k} \binom{n-k}{k}. \quad (8)$$

Furthermore, we have the determinant formulas (see [1, 3]):

$$F_n = \begin{vmatrix} 1 & 1 & 0 & 0 & \cdots & 0 & 0 & 0 \\ -1 & 1 & 1 & 0 & \cdots & 0 & 0 & 0 \\ 0 & -1 & 1 & 1 & \cdots & 0 & 0 & 0 \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots & \vdots & \vdots \\ 0 & 0 & 0 & 0 & \cdots & -1 & 1 & 1 \\ 0 & 0 & 0 & 0 & \cdots & 0 & -1 & 1 \end{vmatrix},$$

$$L_n = \begin{vmatrix} 1 & 1 & 0 & 0 & \cdots & 0 & 0 & 0 \\ -2 & 1 & 1 & 0 & \cdots & 0 & 0 & 0 \\ 0 & -1 & 1 & 1 & \cdots & 0 & 0 & 0 \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots & \vdots & \vdots \\ 0 & 0 & 0 & 0 & \cdots & -1 & 1 & 1 \\ 0 & 0 & 0 & 0 & \cdots & 0 & -1 & 1 \end{vmatrix}.$$

We also know that the Lucas number  $L_n$  can be expressed in terms of the Fibonacci numbers as

$$L_n = 2F_n - F_{n-1}, \quad (9)$$

$$L_n = F_{n-1} + 2F_{n-2}. \quad (10)$$

There has been much interests in applications of the Fibonacci sequence and related sequences. In [9, 15], the authors have investigated the relationships between the generalized order- $k$  Lucas sequences and Fibonacci sequences. In [1], the author has extended the identities and divisibility properties enjoyed by the Fibonacci numbers to the solutions of other recurrence relations. P. Stanimirović [13] investigate the general second-order non-degenerated sequence by matrix method. E. Kilic [6, 7] obtain the generalized Binet formulas for the generalized Fibonacci  $p$ -numbers and generalized order- $k$  Fibonacci-Pell sequence by matrix method. In [16], we derive the determinant formulas for the  $k$ -generalized Fibonacci numbers and Lucas numbers by using symmetric functions. More general linear recursive sequences have been studied by Z.-H. Sun [14]. Relationships between the determinants or permanents of certain matrices and the terms of certain linear recurrences have been investigated in [11].

In this paper, we recover the determinantal representations of  $k$ -generalized Fibonacci numbers and Lucas numbers by using recurrence relation and the relationship between the  $k$ -generalized Fibonacci sequence and  $k$ -generalized Lucas sequence. We extend the identities (3), (4), (7) and (8) to the  $k$ -generalized Fibonacci numbers and Lucas numbers, which can be seen as the Binet formulas for the  $k$ -generalized Fibonacci numbers and Lucas numbers. As application, we obtain some new recurrence relations for the Stirling numbers of the second kind and power sums.

## 2 Determinant formulas

We consider a generalization of the Fibonacci sequence which is called the  $k$ -generalized Fibonacci sequence for positive integer  $k \geq 2$ . Define the  $k$ -generalized Fibonacci sequence  $\{f_n\}$  as shown,

$$f_n = a_1 f_{n-1} - a_2 f_{n-2} + a_3 f_{n-3} - \cdots + (-1)^{k-1} a_k f_{n-k}, \quad \text{for } n \geq 1, \quad (11)$$

where the coefficients  $a_i$ 's are arbitrary real numbers and

$$f_n = \begin{cases} 1, & \text{if } n = 0, \\ 0, & \text{otherwise} \end{cases} \quad \text{for } 1 - k \leq n \leq 0.$$

By usual computation, we obtain the generating function for the  $k$ -generalized Fibonacci sequence

$$F(t) = \sum_{n=0}^{\infty} f_n t^n = \frac{1}{1 - a_1 t + a_2 t^2 - \dots + (-1)^k a_k t^k}. \quad (12)$$

We define the  $k$ -generalized Lucas sequence  $\{l_n\}$  satisfies the same recurrence equation as  $k$ -generalized Fibonacci sequence  $\{f_n\}$

$$l_n = a_1 l_{n-1} - a_2 l_{n-2} + a_3 l_{n-3} - \dots + (-1)^{k-1} a_k l_{n-k}, \quad \text{for } n \geq k,$$

but its initial values  $l_0, l_1, \dots, l_{k-1}$  are determined by the following equations:

$$\sum_{i=0}^r (-1)^i a_i l_{r-i} = (-1)^r (k-r) a_r, \quad r = 0, 1, 2, \dots, k-1, \quad (13)$$

where  $a_1, a_2, \dots, a_k$  are same with those in (11) and  $a_0 = 1$ . Generalizing (9) and (10), we have following result.

**Theorem 1.** The  $k$ -generalized Fibonacci sequence  $\{f_n\}$  and  $k$ -generalized Lucas sequence  $\{l_n\}$  are connected by the following relations

$$l_n = \sum_{r=0}^k (-1)^r (k-r) a_r f_{n-r}, \quad (14)$$

$$l_n = \sum_{r=1}^k (-1)^{r-1} r a_r f_{n-r}. \quad (15)$$

**Proof.** By straightforward computation, we see that the  $k$ -generalized Lucas sequence  $\{l_n\}$  have a closed-form ordinary generating function

$$L(t) = \sum_{n=0}^{\infty} l_n t^n = \frac{\sum_{r=0}^k (-1)^r (k-r) a_r t^r}{1 - a_1 t + a_2 t^2 - \dots + (-1)^k a_k t^k}. \quad (16)$$

Hence  $\sum_{n=0}^{\infty} l_n t^n = \left( \sum_{r=0}^k (-1)^r (k-r) a_r t^r \right) \frac{1}{1 - a_1 t + a_2 t^2 - \dots + (-1)^k a_k t^k}$

$$= \left( \sum_{r=0}^k (-1)^r (k-r) a_r t^r \right) \left( \sum_{n=0}^{\infty} f_n t^n \right) = \sum_{n=0}^{\infty} \left( \sum_{r=0}^k (-1)^r (k-r) a_r f_{n-r} \right) t^n,$$

and  $l_n = \sum_{r=0}^k (-1)^r (k-r) a_r f_{n-r}$ . Moreover,  $l_n = \sum_{r=0}^k (-1)^r (k-r) a_r f_{n-r} =$

$$\sum_{r=0}^k (-1)^r k a_r f_{n-r} - \sum_{r=0}^k (-1)^r r a_r f_{n-r} = k \sum_{r=0}^k (-1)^r a_r f_{n-r} - \sum_{r=0}^k (-1)^r r a_r f_{n-r} =$$

$$\sum_{r=1}^k (-1)^{r-1} r a_r f_{n-r}. \quad \square$$

In [16], we obtain that the  $n$ th  $k$ -generalized Fibonacci number  $f_n$  and the  $n$ th  $k$ -generalized Lucas number  $l_n$  can be expressed by two order- $n$  determinants with entries given by the coefficients of their recurrence equation, here we give another elementary proof. It is worth noting that there is a determinantal formula involving the Toeplitz matrices for the inverse of an infinite power series (see [2, 8]). Applying [2, Eq. (9.1)] or [8, Theorem 4], we can also deduce determinantal representation of  $k$ -generalized Fibonacci number.

**Theorem 2.** For any integer  $n > 0$ , the following determinant formulas are valid

$$f_n = \begin{vmatrix} a_1 & 1 & 0 & 0 & \cdots & 0 & 0 & 0 \\ a_2 & a_1 & 1 & 0 & \cdots & 0 & 0 & 0 \\ a_3 & a_2 & a_1 & 1 & \cdots & 0 & 0 & 0 \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots & \vdots & \vdots \\ a_{n-1} & a_{n-2} & a_{n-3} & a_{n-4} & \cdots & a_2 & a_1 & 1 \\ a_n & a_{n-1} & a_{n-2} & a_{n-3} & \cdots & a_3 & a_2 & a_1 \end{vmatrix}, \quad (17)$$

where  $a_r = 0$  for all  $r > k$ .

**Proof.** Denote the determinant on the right hand of Eq. (17) by  $D_n$ . We use induction on  $n$  to show  $D_n = f_n$ . When  $n = 1$ ,  $D_1 = a_1 = f_1$ ;

When  $n = 2$ ,  $D_2 = \begin{vmatrix} a_1 & 1 \\ a_2 & a_1 \end{vmatrix} = a_1^2 - a_2 = f_2$ . Let  $n \geq 3$  and suppose

$D_k = f_k$  for all positive integers  $k < n$ . If we expand the determinant  $D_n$  by Laplace expansion with respect to the first column, we get  $D_n = a_1 D_{n-1} - a_2 D_{n-2} + a_3 D_{n-3} - \cdots + (-1)^{k-1} a_k D_{n-k} = a_1 f_{n-1} - a_2 f_{n-2} + a_3 f_{n-3} - \cdots + (-1)^{k-1} a_k f_{n-k} = f_n$ . By induction, we have the conclusion.

**Theorem 3.** For any integer  $n > 0$ , the following determinant formulas are valid for the  $k$ -generalized Lucas numbers

$$l_n = \begin{vmatrix} a_1 & 1 & 0 & 0 & \cdots & 0 & 0 & 0 \\ 2a_2 & a_1 & 1 & 0 & \cdots & 0 & 0 & 0 \\ 3a_3 & a_2 & a_1 & 1 & \cdots & 0 & 0 & 0 \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots & \vdots & \vdots \\ (n-1)a_{n-1} & a_{n-2} & a_{n-3} & a_{n-4} & \cdots & a_2 & a_1 & 1 \\ na_n & a_{n-1} & a_{n-2} & a_{n-3} & \cdots & a_3 & a_2 & a_1 \end{vmatrix}, \quad (18)$$

where  $a_r = 0$  for all  $r > k$ .

**Proof.** Denote the determinant on the right hand of Eq. (18) by  $C_n$ .

Expanding the determinant  $C_n$  by Laplace expansion with respect to the first column and applying Theorem 1, we get  $C_n = a_1 f_{n-1} - 2a_2 f_{n-2} + \dots + (-1)^{k-1} k a_k f_{n-k}$ . By using (15) we obtain  $l_n = \sum_{r=1}^k (-1)^{r-1} r a_r f_{n-r} = C_n$ .

This completes the proof.  $\square$

### 3 Binet formulas

The characteristic equation of the recurrence relation of the  $k$ -generalized Fibonacci sequence  $\{f_n\}$  given in (11) is

$$x^k - a_1 x^{k-1} + a_2 x^{k-2} - \dots + (-1)^{k-1} a_{k-1} x + (-1)^k a_k = 0. \quad (19)$$

All roots of the equation (19) are supposed to be distinct from each other. Suppose  $x^k - a_1 x^{k-1} + a_2 x^{k-2} - \dots + (-1)^{k-1} a_{k-1} x + (-1)^k a_k = (x-x_1)(x-x_2) \dots (x-x_k)$ , then  $(x-x_1)(x-x_2) \dots (x-x_k) = \sum_{j=0}^k (-1)^j e_j(x_1, x_2, \dots, x_k) x^{k-j}$

Thus,  $a_j$  is equal to the  $j$ th elementary symmetric function on  $x_1, x_2, \dots, x_k$ , i.e.,  $a_j = e_j(x_1, x_2, \dots, x_k) = \sum_{1 \leq m_1 < m_2 < \dots < m_k \leq k} x_{m_1} x_{m_2} \dots x_{m_j}, j = 1, 2, \dots, k$ .

It is easy to show that  $1 - a_1 t + a_2 t^2 - \dots + (-1)^k a_k t^k = (1 - x_1 t)(1 - x_2 t) \dots (1 - x_k t)$ , where  $x_1, x_2, \dots, x_k$  are roots of the characteristic equation (19). Therefore,

$$\begin{aligned} \sum_{n=0}^{\infty} f_n t^n &= \frac{1}{1 - a_1 t + a_2 t^2 - \dots + (-1)^k a_k t^k} = \frac{1}{(1-x_1 t)} \frac{1}{(1-x_2 t)} \dots \frac{1}{(1-x_k t)} \\ &= \left( \sum_{n=0}^{\infty} x_1^n t^n \right) \left( \sum_{n=0}^{\infty} x_2^n t^n \right) \dots \left( \sum_{n=0}^{\infty} x_k^n t^n \right) = \sum_{n=0}^{\infty} \left( \sum_{n_1+n_2+\dots+n_k=n} x_1^{n_1} x_2^{n_2} \dots x_k^{n_k} \right) t^n, \end{aligned}$$

$$\begin{aligned} \text{and } \sum_{n=0}^{\infty} l_n t^n &= \frac{\sum_{r=0}^k (-1)^r (k-r) a_r t^r}{1 - a_1 t + a_2 t^2 - \dots + (-1)^k a_k t^k} = \frac{\sum_{r=0}^k (-1)^r (k-r) a_r t^r}{(1-x_1 t)(1-x_2 t) \dots (1-x_k t)} \\ &= \frac{1}{(1-x_1 t)} + \frac{1}{(1-x_2 t)} + \dots + \frac{1}{(1-x_k t)} = \sum_{n=0}^{\infty} x_1^n t^n + \sum_{n=0}^{\infty} x_2^n t^n + \dots + \sum_{n=0}^{\infty} x_k^n t^n \\ &= \sum_{n=0}^{\infty} (x_1^n + x_2^n + \dots + x_k^n) t^n. \end{aligned}$$

Thus we obtain the Binet formulas by which the  $k$ -generalized Fibonacci number  $f_n$  and Lucas number  $l_n$  can be expressed in terms of the roots of the characteristic equation of the recurrence relation.

**Theorem 4.** For any integer  $n \geq 0$ , the  $n$ th  $k$ -generalized Fibonacci number  $f_n$  and  $n$ th  $k$ -generalized Lucas number  $l_n$  can be represented in

the form

$$f_n = \sum_{\substack{n=n_1+n_2+\dots+n_k \\ n_1, n_2, \dots, n_k \geq 0}} x_1^{n_1} x_2^{n_2} \dots x_k^{n_k}, \quad (20)$$

$$l_n = x_1^n + x_2^n + \dots + x_k^n. \quad (21)$$

Generalizing Eq.(7) and (8), we can derive the following theorem.

**Theorem 5.** For any integer  $n \geq 0$ , the  $n$ th  $k$ -generalized Fibonacci number  $f_n$  and  $n$ th  $k$ -generalized Lucas number  $l_n$  can be written as

$$f_n = \sum_{\substack{n=s_1+2s_2+\dots+ks_k \\ s_1+s_2+\dots+s_k}} (-1)^{n+s} \binom{s}{s_1, s_2, \dots, s_k} a_1^{s_1} a_2^{s_2} \dots a_k^{s_k}, \quad (22)$$

$$l_n = \sum_{\substack{n=s_1+2s_2+\dots+ks_k \\ s_1+s_2+\dots+s_k}} (-1)^{n+s} \frac{n}{s} \binom{s}{s_1, s_2, \dots, s_k} a_1^{s_1} a_2^{s_2} \dots a_k^{s_k}. \quad (23)$$

**Proof.** Let  $C_k$  be the  $k \times k$  companion matrix associated with the  $k$ -generalized Fibonacci sequence  $\{f_n\}$ , i.e.,

$$C_k = \begin{pmatrix} a_1 & -a_2 & a_3 & -a_4 & \dots & (-1)^{k-2} a_{k-1} & (-1)^{k-1} a_k \\ 1 & 0 & 0 & 0 & \dots & 0 & 0 \\ 0 & 1 & 0 & 0 & \dots & 0 & 0 \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots & \vdots \\ 0 & 0 & 0 & 0 & \dots & 0 & 0 \\ 0 & 0 & 0 & 0 & \dots & 1 & 0 \end{pmatrix}. \quad (24)$$

It follows that the linear homogeneous recurrence relation (11) can be rewritten as:

$$\begin{pmatrix} f_n \\ f_{n-1} \\ f_{n-2} \\ \vdots \\ f_{n-k+1} \end{pmatrix} = C_k \begin{pmatrix} f_{n-1} \\ f_{n-2} \\ f_{n-3} \\ \vdots \\ f_{n-k} \end{pmatrix}. \quad (25)$$

By iteration one obtains

$$\begin{pmatrix} f_n \\ f_{n-1} \\ f_{n-2} \\ \vdots \\ f_{n-k+1} \end{pmatrix} = C_k^n \begin{pmatrix} f_0 \\ f_{-1} \\ f_{-2} \\ \vdots \\ f_{-k+1} \end{pmatrix}, \quad \text{for } n \geq 0. \quad (26)$$

Since  $\begin{pmatrix} f_0 \\ f_{-1} \\ f_{-2} \\ \vdots \\ f_{-k+1} \end{pmatrix} = \begin{pmatrix} 1 \\ 0 \\ 0 \\ \vdots \\ 0 \end{pmatrix}$ , we have that  $f_n$  equals the  $(1, 1)$ -entry of

the matrix  $C_k^n$ . Thus, from [2, Theorem 3.1], we can derive

$$f_n = C_k^n(1, 1) = \sum_{\substack{n=s_1+2s_2+\dots+ks_k \\ s=s_1+s_2+\dots+s_k}} (-1)^{n+s} \binom{s}{s_1, s_2, \dots, s_k} a_1^{s_1} a_2^{s_2} \dots a_k^{s_k}.$$

The formula (23) follows directly from Waring's formula (see [2, 12]) which express the power sum symmetric function  $p_n = x_1^n + x_2^n + \dots + x_k^n$  in terms of the elementary symmetric functions of  $x_1, x_2, \dots, x_k$ .  $\square$

**Example 1.** For  $k = 3$ , the 3-generalized Fibonacci sequence  $\{f_n\}$  is

$$f_n = a_1 f_{n-1} - a_2 f_{n-2} + a_3 f_{n-3}, \quad n \geq 1, \quad (27)$$

where  $f_0 = 1, f_{-1} = f_{-2} = 0$ , and  $a_1, a_2, a_3$  are arbitrary real numbers.

The generating function is  $F(t) = \sum_{n=0}^{\infty} f_n t^n = \frac{1}{1-a_1 t + a_2 t^2 - a_3 t^3}$ , and

$$f_n = \begin{vmatrix} a_1 & 1 & 0 & \cdots & 0 & 0 \\ a_2 & a_1 & 1 & \cdots & 0 & 0 \\ a_3 & a_2 & a_1 & \cdots & 0 & 0 \\ 0 & a_3 & a_2 & \cdots & 0 & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots & \vdots \\ 0 & 0 & 0 & \cdots & a_1 & 1 \\ 0 & 0 & 0 & \cdots & a_2 & a_1 \end{vmatrix} = \sum_{\substack{n=s_1+2s_2+3s_3 \\ s=s_1+s_2+s_3}} (-1)^{n+s} \binom{s}{s_1, s_2, s_3} a_1^{s_1} a_2^{s_2} a_3^{s_3}.$$

The 3-generalized Lucas sequence  $\{l_n\}$  is

$$l_n = a_1 l_{n-1} - a_2 l_{n-2} + a_3 l_{n-3}, \quad n \geq 3, \quad (28)$$

with  $l_0 = 3, l_1 = a_1, l_2 = a_1^2 - 2a_2$ , and  $a_1, a_2, a_3$  are arbitrary real numbers.

Its generating function is  $L(t) = \sum_{n=0}^{\infty} l_n t^n = \frac{3-2a_1t+a_2t^2}{1-a_1t+a_2t^2-a_3t^3}$ , and

$$l_n = \begin{vmatrix} a_1 & 1 & 0 & \cdots & 0 & 0 \\ 2a_2 & a_1 & 1 & \cdots & 0 & 0 \\ 3a_3 & a_2 & a_1 & \cdots & 0 & 0 \\ 0 & a_3 & a_2 & \cdots & 0 & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots & \vdots \\ 0 & 0 & 0 & \cdots & a_1 & 1 \\ 0 & 0 & 0 & \cdots & a_2 & a_1 \end{vmatrix} = \sum_{\substack{n=s_1+2s_2+3s_3 \\ s=s_1+s_2+s_3}} (-1)^{n+s} \frac{n!}{s!} \binom{s}{s_1, s_2, s_3} a_1^{s_1} a_2^{s_2} a_3^{s_3}.$$

The Binet formulas for the 3-generalized Fibonacci numbers and Lucas numbers are

$$f_n = \sum_{\substack{n_1+n_2+n_3=n \\ n_1, n_2, n_3 \geq 0}} x_1^{n_1} x_2^{n_2} x_3^{n_3},$$

$$l_n = x_1^n + x_2^n + x_3^n,$$

where  $x_1, x_2, x_3$  are roots of the characteristic equation  $x^3 - a_1x^2 + a_2x - a_3 = 0$ .

## 4 Applications

The Stirling numbers are often defined as the coefficients in an expansion of positive integral powers of a variable in terms of falling factorial powers, or vice-versa [5]:  $x^n = \sum_{k=0}^n (-1)^{n-k} \left\{ \begin{matrix} n \\ k \end{matrix} \right\} x^k$ ,  $x^n = \sum_{k=0}^n \left[ \begin{matrix} n \\ k \end{matrix} \right] x^{\underline{k}}$ ,  $n \geq 0$ , where  $x^{\underline{n}} = x(x-1)(x-2)\cdots(x-n+1)$  for  $n \geq 1$  and  $x^{\underline{0}} = 1$ . The numbers  $\left[ \begin{matrix} n \\ k \end{matrix} \right]$  and  $\left\{ \begin{matrix} n \\ k \end{matrix} \right\}$  are the Stirling number of the first kind and the second kind, respectively. Z.-H. Sun [14] have given a expression for the Stirling number of the second kind in terms of a general linear recursive sequence. In this section, we give some new recurrence relations for the Stirling numbers of the second kind and power sums.

Let  $S_n(k) = 1^n + 2^n + \cdots + k^n$  be sum of  $n$ th power of natural numbers from 1 to  $k$ .  $S_n(k)$  is usually called sum of powers, or simply power sum. It is well known that  $S_n(k)$  is a polynomial in  $k$  of degree  $n+1$  (see [3, 5]):  $S_n(k) = \frac{1}{n+1} \sum_{j=0}^n (-1)^j B_j \binom{n+1}{j} k^{n+1-j}$ , where  $B_j$  are Bernoulli numbers defined by generating function  $\sum_{n=0}^{\infty} B_n t^n / n! = \frac{t}{e^t - 1}$ . We also know that power

sum  $S_n(k)$  can be expressed in terms of the Stirling numbers of the second kind and binomial coefficients as [3, 10]  $S_n(k) = \sum_{j=1}^n (-1)^{n+j} \left\{ \begin{matrix} n \\ j \end{matrix} \right\} j! \binom{k+j}{k-1}$ .

Now if we select  $x_1 = 1, x_2 = 2, \dots, x_k = k$  in (20) and (21), then  $F(t) = \sum_{n=0}^{\infty} f_n t^n = \frac{1}{(1-t)(1-2t)\dots(1-kt)}$  and  $L(t) = \sum_{n=0}^{\infty} l_n t^n = \frac{1}{1-t} + \frac{1}{1-2t} + \dots + \frac{1}{1-kt} = \sum_{n=0}^{\infty} (1^n + 2^n + \dots + k^n) t^n$ . Hence  $f_n = \left\{ \begin{matrix} n+k \\ k \end{matrix} \right\}$  is the Stirling number of the second kind and  $l_n = S_n(k) = 1^n + 2^n + \dots + k^n$  is power sum. Since  $1 - a_1 t + a_2 t^2 - \dots + (-1)^k a_k t^k = (1-t)(1-2t)\dots(1-kt) = \sum_{n=0}^k (-1)^n \left[ \begin{matrix} k+1 \\ k+1-n \end{matrix} \right] t^n$ , thus  $a_n = \left[ \begin{matrix} k+1 \\ k+1-n \end{matrix} \right]$  is the Stirling number of the first kind. According to our theory above, we obtain the following results involving the Stirling numbers and power sums:

Recurrence relation for the Stirling number of the second kind

$$\left\{ \begin{matrix} n+k \\ k \end{matrix} \right\} = \left[ \begin{matrix} k+1 \\ k \end{matrix} \right] \left\{ \begin{matrix} n+k-1 \\ k \end{matrix} \right\} - \left[ \begin{matrix} k+1 \\ k-1 \end{matrix} \right] \left\{ \begin{matrix} n+k-2 \\ k \end{matrix} \right\} + \dots + (-1)^{k-1} \left[ \begin{matrix} k+1 \\ 1 \end{matrix} \right] \left\{ \begin{matrix} n \\ k \end{matrix} \right\}. \quad (29)$$

Recurrence relation for the power sums

$$S_n(k) = \left[ \begin{matrix} k+1 \\ k \end{matrix} \right] S_{n-1}(k) - \left[ \begin{matrix} k+1 \\ k-1 \end{matrix} \right] S_{n-2}(k) + \dots + (-1)^{k-1} \left[ \begin{matrix} k+1 \\ 1 \end{matrix} \right] S_{n-k}(k). \quad (30)$$

Relation between  $\left\{ \begin{matrix} n+k \\ k \end{matrix} \right\}$  and  $S_n(k)$

$$S_n(k) = \left[ \begin{matrix} k+1 \\ k \end{matrix} \right] \left\{ \begin{matrix} n+k-1 \\ k \end{matrix} \right\} - 2 \left[ \begin{matrix} k+1 \\ k-1 \end{matrix} \right] \left\{ \begin{matrix} n+k-2 \\ k \end{matrix} \right\} + \dots + (-1)^{k-1} \left[ \begin{matrix} k+1 \\ 1 \end{matrix} \right] \left\{ \begin{matrix} n+1 \\ k \end{matrix} \right\}; \quad (31)$$

$$S_n(k) = k \left[ \begin{matrix} k+1 \\ k+1 \end{matrix} \right] \left\{ \begin{matrix} n+k \\ k \end{matrix} \right\} - (k-1) \left[ \begin{matrix} k+1 \\ k \end{matrix} \right] \left\{ \begin{matrix} n+k-1 \\ k \end{matrix} \right\} + \dots + (-1)^{k-1} \left[ \begin{matrix} k+1 \\ 2 \end{matrix} \right] \left\{ \begin{matrix} n+1 \\ k \end{matrix} \right\}. \quad (32)$$

Determinant formulas

$$\left\{ \begin{matrix} n+k \\ k \end{matrix} \right\} = \begin{pmatrix} \begin{matrix} \begin{bmatrix} k+1 \\ k \end{bmatrix} & 1 & 0 & \cdots & 0 & 0 & 0 \\ \begin{bmatrix} k+1 \\ k-1 \end{bmatrix} & \begin{bmatrix} k+1 \\ k \end{bmatrix} & 1 & \cdots & 0 & 0 & 0 \\ \begin{bmatrix} k+1 \\ k-2 \end{bmatrix} & \begin{bmatrix} k+1 \\ k-1 \end{bmatrix} & \begin{bmatrix} k+1 \\ k \end{bmatrix} & \cdots & 0 & 0 & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots & \vdots & \vdots \\ \begin{bmatrix} k+1 \\ k-n+2 \end{bmatrix} & \begin{bmatrix} k+1 \\ k-n+3 \end{bmatrix} & \begin{bmatrix} k+1 \\ k-n+4 \end{bmatrix} & \cdots & \begin{bmatrix} k+1 \\ k-1 \end{bmatrix} & \begin{bmatrix} k+1 \\ k \end{bmatrix} & 1 \\ \begin{bmatrix} k+1 \\ k-n+1 \end{bmatrix} & \begin{bmatrix} k+1 \\ k-n+2 \end{bmatrix} & \begin{bmatrix} k+1 \\ k-n+3 \end{bmatrix} & \cdots & \begin{bmatrix} k+1 \\ k-2 \end{bmatrix} & \begin{bmatrix} k+1 \\ k-1 \end{bmatrix} & \begin{bmatrix} k+1 \\ k \end{bmatrix} \end{matrix} \end{pmatrix};$$

$$S_n(k) = \begin{pmatrix} \begin{matrix} \begin{bmatrix} k+1 \\ k \end{bmatrix} & 1 & 0 & \cdots & 0 & 0 & 0 \\ 2 \begin{bmatrix} k+1 \\ k-1 \end{bmatrix} & \begin{bmatrix} k+1 \\ k \end{bmatrix} & 1 & \cdots & 0 & 0 & 0 \\ 3 \begin{bmatrix} k+1 \\ k-2 \end{bmatrix} & \begin{bmatrix} k+1 \\ k-1 \end{bmatrix} & \begin{bmatrix} k+1 \\ k \end{bmatrix} & \cdots & 0 & 0 & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots & \vdots & \vdots \\ (n-1) \begin{bmatrix} k+1 \\ k-n+2 \end{bmatrix} & \begin{bmatrix} k+1 \\ k-n+3 \end{bmatrix} & \begin{bmatrix} k+1 \\ k-n+4 \end{bmatrix} & \cdots & \begin{bmatrix} k+1 \\ k-1 \end{bmatrix} & \begin{bmatrix} k+1 \\ k \end{bmatrix} & 1 \\ n \begin{bmatrix} k+1 \\ k-n+1 \end{bmatrix} & \begin{bmatrix} k+1 \\ k-n+2 \end{bmatrix} & \begin{bmatrix} k+1 \\ k-n+3 \end{bmatrix} & \cdots & \begin{bmatrix} k+1 \\ k-2 \end{bmatrix} & \begin{bmatrix} k+1 \\ k-1 \end{bmatrix} & \begin{bmatrix} k+1 \\ k \end{bmatrix} \end{matrix} \end{pmatrix}.$$

### Acknowledgements

We would like to thank the anonymous referees for their useful suggestions and comments. This research is supported by the Natural Science Foundation of China and the Development Program for Outstanding Young Teachers in Lanzhou University of Technology.

### References

- [1] D. Aharonov, A. Beardon, K. Driver, Fibonacci, Chebyshev, and orthogonal polynomials, *Amer. Math. Monthly* 112(7)(2005), 612-630.
- [2] W.Y.C. Chen, J.D. Louck, The Combinatorial power of the companion matrix, *Linear Algebra Appl.* 232(1996), 261-278.
- [3] L. Comtet, *Advanced Combinatorics*, D. Reidel Publishing Co., Dordrecht, 1974.
- [4] H.W. Gould, The Girard-Waring power sum formulas for symmetric functions and Fibonacci sequences, *Fibonacci Quart.* 37(2)(1999), 135-140.
- [5] R. Graham, D. Knuth, O. Patashnik, *Concrete Mathematics*, Addison-Wesley, New York, 1989.

- [6] E. Kilic, The generalized order- $k$  Fibonacci-Pell sequence by matrix methods, *J. Comput. Appl. Math.* 209(2)(2007), 133-145.
- [7] E. Kilic, The Binet formula, sums and representations of generalized Fibonacci  $p$ -numbers, *European J. Combin.* 29(3)(2008),701-711.
- [8] E. Kilic, P. Stanica, Generating matrices for weighted sums of a second order linear recurrence, *Journal of Integer Sequences*, 12(2009), Article 09.2.7.
- [9] G.Y. Lee,  $k$ -Lucas numbers and associated bipartite graph, *Linear Algebra Appl.* 320(2000), 51-61.
- [10] A. Luzon, M.A. Moron, Riordan matrices in the reciprocation of quadratic polynomials, *Linear Algebra Appl.* 2008, doi:10.1016/j.laa.2008.12.001.
- [11] H. Minc, Permanents of  $(0, 1)$ -circulants, *Canad. Math. Bull* 7(1964), 253-263.
- [12] J. Riordan, *An introduction to Combinatorial analysis*, Wiley, New York, 1985.
- [13] P. Stanimirović, J. Nikolov, I. Stanimirović, A generalization of Fibonacci and Lucas matrices, *Discrete Appl. Math.* 156 (2008), 2606-2619.
- [14] Z.-H. Sun, Linear recursive sequence and power of matrices, *Fibonacci Quart.* 39(4)(2001), 339-351.
- [15] D. Tasci, E. Kilic, On the order- $k$  generalized Lucas numbers, *Appl. math. Comput.* 155(2004), 637-641.
- [16] S-l. Yang, On the  $k$ -generalized Fibonacci numbers and high-order linear recurrence relations, *Appl. math. Comput.* 196(2008), 850-857.